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#1 ID: bcb66188

Triangle 𝐹𝐺𝐻 is similar to triangle 𝐽𝐾𝐿, where
angle 𝐹 corresponds to angle 𝐽 and angles 𝐺
and 𝐾 are right angles. If sin(𝐹) = 308

317, what is the
value of sin(𝐽)?

75
317

308
317

317
308

317
75

#2 ID: 33e29881

In right triangle 𝑅𝑆𝑇, the sum of the measures
of angle 𝑅 and angle 𝑆 is 90 degrees. The value
of sin(𝑅) is √154 . What is the value of cos(𝑆)?

√15
15

√15
4

4√15
15

√15

#3 ID: 902dc959

In the figure above, what is the value of 𝐴?

20
29

21
29

20
21

21
20

#4 ID: 2bddbc1b

What is the value of cos𝐴 in the triangle shown?

42
41

41
42

1
42

1
41
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#5 ID: de550be0

For the triangle shown, which expression
represents the value of 𝑎?

√212 - 62

212 - 62

√21 - 6

21 - 6

#6 ID: 9ec76b54

A right triangle has legs with lengths of 28
centimeters and 20 centimeters. What is the
length of this triangle's hypotenuse, in
centimeters?

8√6

4√74

48

1,184

#7 ID: bf8d843e

In  above, what is the length of 
𝐴𝐷?

4

6

#8 ID: a5aee181

The length of a rectangle’s diagonal is 5√17, and
the length of the rectangle’s shorter side is 5.
What is the length of the rectangle’s longer
side?

√17

20

15√2

400
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#9 ID: 13d9a1c3

In the right triangle shown above, what is the
length of 𝑃𝑄 ?


